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152 Unit of radiation exposure is B AorB
&8s & erallet S0

(A) Curie
Syl

(B) Roentgen
[TIT630TL_ 82 63T
(C) Weber

Gleuuiy

(D) Pascal
LTarV&60

161 D All

Mercury is used in thermometers because .
options

GeuliublemevLdmesiluTed LMSF&FLD wrong
LIwIsTU (5 &S SSTT6uaTLD

(A) It is a bad conductor of heat

Qeuliugens FHlLTe:S SLHSHTSH
SITIT60015 S\ 68TT60

(B) It is a good conductor of heat

Qeuliug g FHILTSS &L &GleUH6TTeL
(C) It is dull inside glass tube

Setuteuntig UNw)I e QGaNeunsdsd QHITg
STIT60015 S6TTT6L

(D) It does not expand due to heat

Qeuliug Sleurmed exifleusnLWITS
&MI6u0TSH HevTmed




175

............. Radioactive isotope is used in treatment of
cancer

UHmMICHTL & &enguiled
LwsTu(RSSLUILGLD sHMIWSS
oGeEmGLmIY

(A) Carbon 14
SITLIGHT 14

(B) Cobalt 60
GamumeLL_ 60
(C) Uranium 235
W CryeefluiLb 235

(D) Todine 131
HGuwImg 657 131

177

The elements can lose electrons to form ions which
are positively charged are called ...........cccooieiiiine
SHEUTLOMIGSE, 6TLEL_ TSI SHE06 QLOHS)
GBIy OlGaTENL L MiGenens Cl&mesor(®
2_(HEUTHGLD. 6MEUGW ...
6T6OTLIL(RLD.

(A) Anions

6T&T SiWIsoNG6i

(B) Cations
GBIy iwlesf Sl

(C) Positrons
LTSI JmesT&HerT

(D) Nucleons
1Bl &erflImedT et
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Tashkent agreement was signed between the two
countries

'BTERSEIL RUUBSLD 6THE
BT(h&Ep&SmL G &IPS ST S

(A) India - China
QbHwIT-Feorm

(B) India - Srilanka
AnhEHIT-Bevmiens
(C) India - Russia
QiHuwim-yeiguim

(D) India - Pakistan
@b HWIT-LITE 60 &TedT
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The term "Law" was derived from anold
root 'lag’.

FLLLD 6T60TLIENSG GMISH@GLD 'Law' 6T601M
QUITTE 60 LIGTOTETL UL .....ocooooerererrnnns
QuomLHlUTeVI6TaT 'eVMS' ¢T68TM
Gou&QameLededl(HHE! 2 (HEUMEITSHTELD

(A) Germanic

Clgmesiw

(B) Teutonic
lguyl GLmesflé

(C) Celtic
QgebIg &

(D) Nordic
Biig &

AorBor
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The Right to Information Act was passed by the
Parliament on .

H&6UL SIMILLD 2 flenwgFFL L Lb
UM EBLD6TM&Sl60 HlenmGeummuL L
S,6101(B 61817

(A) 2005
(B) 2006
(C) 2007

(D) 2008
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Find compound interest for 3 years for Rs 3000
amount at 10% interest rate.

€53000 QG TENSHSHSITE 3 6U(HL HSHMHST60T
oL (B UL 1quNemert 10 % eUL I 62155 &6
SITCHOTS .

(A) 3993
(B) 3900
(C) 4993

(D) None of these
BAeummied g ILhsLeme




